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I T3325/T0530 OPEN SOURCE TECHNOLOGIES

TE- Sem- M T-T. (c856¢5). >az-:er

NO

\.L'.-\_

(3) Assume smtable data, if necsig @L ¢

1. Attempt any four sub que&thﬁs; ol
Explain backup commands in- Lmux.
Describe role of init 51gnal

Explain permissions on-directory and ﬁles

Describe AndrmdMamfest xml’ ﬁ]e compcments AL

S
U A th

% A

2. a. Exlpainuse oﬁse‘dﬁWr scngt‘baseclomsed- ,t_cpcéOmfert aJLlowercase letters 4,
ina ﬁle to Qpp_ercase Iette1 3

10

Wiasianaa

mo 1ﬂf1ﬂg ':u]rl 1}

10
10

10
10

r\:\_ 4

E,lsguss sigmficance of gwen-f les- fetc/passwd, /etc/shadow, /etc/group./ 10

ﬂy\expl_am the concept of- Daemon Process, User Process, Parent
‘e\sgﬁhﬂﬁﬂ’mcess, Background-Foreground Process.

£ *mscrt\tht, -t delete text, to cut & paste text, to save & quit files.

i
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T3325/T0528 MICROCONTROLLER AND EMBEDED SYSTEMS .= . =& = -

T-E- Sem-¥ (8sGs) - TT- 0295t}
MES

Q.P. Code : 594401

(3 Hours) [Total Marks: 80

N.B.:- (1) Question No. 1 is Compulsory.

]

(a)
(b)
(c)
(d)

(a)
(b)

(a)

(b)

(a)
(b)

(a)
(b)

(a)
(b)
(c)
(d)

(2) Solve any three questions from the remaining five questions.
(3) Figures to the right indicate full marks.
(4) Make suitable assumptions wheréver necessary and state them clearly.

Define Embedded System. Explain classification of embedded system.
State the features of 8051 microcontroller.

Explain Semaphores and Mutex in RTOS.

Explain pipelining in ARM processor.

Explain the Embedded System architecture in detail.
Explain the Timer/ Counter of IC 8051.

Write an assembly language program for 8051 microcontroller to generate a square
wave of 2KHz on pin 1.0 assuming crystal frequency of 12 MHz, Justify the mode of
operation.

Explain the hardware and software interrupts of 8051 microcontroller.

Explain the addressing modes of ARM 7 Processor
Explain the following instructions with suitable examples w.r.t ARM processor
(i) BLX
(i) CMN
(iii) SWP
(iv) MVN
(v) LDC

Explain the various methods to implement interprocess communication.
Explain the addressing modes of 8051 microcontroller.

Write note on (any two):

Battery operated smart card reader
Digital clock as an Embedded system
Serial communication of 8051
Assembler directives

AGEDASODEF071BCT52FTDS786EAOFBYC
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19

10

10
10

10
10

20



TE-Sem-¥ - LT (caas)
(3 Hours)
CGVRold

N.B.: (1) Question 1 is compulsory.

(2) Attempt any three from remaining Ques@
3)
“
1 (a)
(b) Compare boundary fill and ﬂo\gd i @‘gﬁp

(c) Explain VR application m@
(d) Differentiate between ra:slern%

/\
‘*’-Hx\

& (a) Explain Sutherlani“Hbd he algori
example. Discugs’ It&ﬁ@aﬁl&agi&’ah@d V‘an e85

(b) Derive the Brgﬁbﬁbag?l s"t;ﬂ‘g\ﬂﬁ&vg@a loc pmmwg mz'a :‘c}

Take sultahle\éxﬁgﬁg - “aﬁ;mﬂ;é@eé W0

\25

plane and on negative Z- axis.
an arbitrary point for 2D Rotation. 10

“"""3‘,\\ \

 be: ;ecxangial@‘iw;ﬁdow with A(20,20), B(90,20), C(90,70), 10

"“ r-
i

k ,Z@\Eﬁid}egmﬂ @ngb for endpoints and use Cohen Sutherland
Jci‘lpme 1;:153@‘1 P2 with

1:Bspll *%gu?'ve 10
._._ ‘F’;\ N ,-\‘b\\b\fﬁ‘ P __}5?
/

»;q_

o~
‘\ r\

Shﬁwﬂhaﬁ’tgﬁns\‘fonnanon matrix for reflection about line y=x is equivalent 10
XQEQCtIGQtO X axis followed by counter clockwise rotation of 90 degree.
Qve miithematlcal representation for Beziers curve and state their 10
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